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KENDRIYA VIDYALAYA AFS BAGDOGRA
ANNUAL EXAMINATION (2018-19)
SUBJECT : | EVS CLASS . AV
TIME : 120 MINUTES Max.Marks. | 80
Instruction: ALL QUESTIONS ARE COMPULSORY.
NAME : SEC: ROLL NO. DATE:
MARKS OBTAINED-
SIGNATURE OF INVIGILATOR SIGNATURE OF EXAMINER
OBSERVATION
1 Observe the pictures and write their names
M
a.
M




1M

1M

1M

1M

1M




1M

1M
1M
Babu ji sells previous day’s vegetables first. Why do you think he does this? 2M
What will people do after finishing langar? 2M




Why is there a quarrel in Maretta’s family? 2M
What is Garam Masala? Name the spices used to make it? 2M
What was Wahida’s big dream? 2M
Write five lines about ‘Desert Oak Tree”. 5M
What should we do if we have diarrhoea and vomiting? 5M




IDENTIFICATION

Fill in the blanks by choosing the correct word :

tree has unusual roots.( Banyan / Mango) 1M

is celebrated on the harvest of rice corp.(Bihu / Christmas) 1M

Maretta’s father wants to see match.(Cricket / football) 1M
is the currency of Abu-Dhabi.(Dirham / Dollar) 1M

makes the food yellow.(Turmeric / zeera) 1M

cures our toothache. ( Clove / Cumin) 1M

Wahida Prism is the first woman to join Indian .( Navy / Airforce) 1M
keeps the stomach healthy.( Saunf / Zeera) 1M

Chuskit was a year old girl.(ten / eleven) 1M
tried to solve Chuskits problem.( Abdul / Abba Le) 1M

How do you come to know that vegetables have spoilt? 2M




Why do birds make a nest? What is nest made of? 2M
What preparations are made to celebrate Bihu? 2M
Why do many trees cannot grow in desert area? 2M
What are the responsibilities of Wahida Prism? 2M
Write five lines about Pochampalli. 5M




DISCOVERY OF FACTS

Answer the following in one word :

1M
Name one vegetable / fruit which is heavy to carry.

1M
Name one vegetable / fruit which is smooth to touch.

1M
Who ordered to give Mid-Day meal?

1M
Where is Langar served?

M
How many hours it took to travel from Abu-Dhabi to Kerala by aeroplane?
What type of teeth do the following animals have? 3M

Cat -

Snake -

Squirrel -




What were the things Nandita was afraid to do? 3M
Why did Pilloo Aunty paid full price of seven kulfis? 3M
What was Chuskit ‘s dream? Why cannot she go to school? 3M

Who brings all the material to cook so much food in Langar?




Locate these in the political map of India -
1. Mumbai (Maharashtra)

2. Assam
3. Punjab
4. Andhra Pradesh

5. Kerala
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CODE NO: A TOTAL PAGE :
KENDRIYA VIDYALAYA
ANNUAL EXAMINATION (2018 -19)
SUBJECT Maths CLASS v
TIME 2HOURS MARKS: 80
Instruction: ALL QUESTIONS ARE COMPULSORY
NAME : SEC : ROLL NO. DATE:

MARKS OBTAINED-

SIGNATURE OF INVIGILATOR

SIGNATURE OF EXAMINER

Q.No MARKS
Qil. Convert the following into gram : 1M
2KO =eeiiiiiiiiiiiiiiniiieeeeiinieneennranaone gram
02 Complete the pattern : 1M
864 ,764,664, .......cconvnnenen. s eeessescessesy sessessassasnne
03 Solve it : imM
1,4, 9,16, 25

imM
Q4 6 X 45 X2 X 0 =uiiiiiiiiiiiiiiiiiiiiiiiaiieenean
Q5 Fill in the blanks :

im

Multiplication is addition.




Q6 Find the length of the boundary : 1M
1M

Q7 2m= cm.

Qs BXT100=.eeeieeernrennrenaeennnnn 1M

09. Area of square = 1M

Q10 | Guess which is the heaviest : 5kg rice or 250 gram tea : 1M
2M

Q11 Starting from 0, rabbit jumps 5 steps at a time-

In how many jumps does he reach 25?
Q12 Complete it -- 2M
2 ’ 5 ’ 4 ’ 7 ’ ——

2b,4d, 6f 8h




Qi3 Write the letters — A, B, C in the box so that no letter comes twice | 2M
in any line :
Q14 Draw a pattern: 2M
Q15 Added the following and convert into gram : 2M
2kgand 4 kg = g.

UNDERSTANDING

Ql6 8 legs means 2 cats. 1M

Then 16 legs means.........ccccueeeneeee cats.

Q17 Complete the pattern with numbers - Y
9 109 209

Q18 | Tick the one that has more weight : Y




im

Q19 Kg gram
38 500
_13 300
Q20 Fill in kilogram or gram : Y
A sack of rice weighs 30
Q21 Perimeter of a square = X imM
2M
Q22 Draw bar graph(pictograph) of class 4th according section wise
with the help of following data.
A-20 B-15
C-25 D-25
Q23. |2.5kg+ 700g + 200g = kg g 2M




Q24.

Divide and write the dividend and quotient :

4) 384 (

Dividend-.......cccceevueeeirerrernnennnes
Quotient-.....ccccceerreeciernnenerennnes

2M

Q25

Find the perimeter (boundary) of this figure. The squares are 1cm

squares. (Note: do not use a scale)

2M

Q26

Some children were asked which of these they liked most- tea

coffee or milk :

The drink they like — Number of children

Milk
Coffee
Tea

20
10
10

Total no. of children = ... cee e

2M




Q27

Look at the chart and answer these question :
The Drama Chart

& “This shows 3
Py

children

Number of
Children

A
N
A A
A -
A A
e -y
A A
PN -y

-
y S
N

A

RN
,’),

N

Acting Collecting Playing Making
Dresses music the sets

a .How many children are acting in the drama?

b. Which are more — children making the sets or those acting?

¢. What is being done by most of the children?

d. How many children are collecting dresses?

4M

ABILITY TO COMPUTE

Q28

In which we need bigger bag?
Tick the right answer.

1) 1kg sugar
2) 1 kg popcorn

1M

Q29

Which pan of the balance will go down? Show by drawing an
arrow.

im




Q30. |20. 30. 40. 50. iM
Q31 Observe the number patterns and fill in the boxes : 1M
300
200
Q32 Which two tables will you use for writing the table of 9? Y
Q33 Find the missing length in this figure : 1M
? 8cm Boundary of length= 22cm
7cm Missing length...........cccueuueene

Q34 Use numbers 1 -6 to make your own magic triangle. 2M

Rule: numbers on each side must add up to 10.

LT
Q35 A hockey field is 91 meter 40 cm long and 55m wide .How long is 2M

the boundary of the field.




Q36 | Guess how many squares of one centimeter can fill this rectangle? | 2M
Write your guess here
Q37 Rahul made a chapatti chart after asking his friends — 2M
Those who like Those who do
to get wet in not like to get
the rain wet in the rain
See the chapatti chart and tell how many children like to get wet
in the rain?
i)1/2 ii) 1/4 iii) 3/4
Q38 Count and write : 2M

TIIVLEUSE
e res

There are.................. and

Each rows have............cccceeeuueunee plants.




Q39

Ganapati’s wife works in a tailor’s shop. She has to fix lace around
a table cloth. She bought a 100 meter roll of lace. Look at the
picture and give answer to the following question:

wo (G

50 cm

1 m 50 cm

a) Tell how much lace is used for one table cloth?

b) How much lace will be used in 3 such table cloths?

4M

PROBLEM SOLVING ABILITY

Q40.

Count the squares in this shape:

1M

Q41.

If 75 x 8 = 600, then 75 X 80 =.......cccecvveumrrriricrneneenesssnnneenens

im

Q42.

BKE =5 X wecerrrrrerrerrenrerens g=5000¢g

im




im

of ago. He is fully fit. Doyou know his secret? He goes for a walk
around the field every morning. every day he talks four rounds of

Chengdu’s field.
What is the total distance he covers?

4 x = m = km

Q43. | The cost of 1 Kg apple is Rs.40 Find the cost of 500 g apples
Q44. | Complete the pattern: Y
287 27Y 26X
Q45. | Find the perimeter of this field : iM
6 metre
z
=
=
=
> B
=
(<o)
12 metre
Q4e. 2M
Kgorg
1) A tube of fevistick =
2) Human body weight =
Q47. | Chandu’s father is called the young man’ in his village.at 70 years | 2M




Q48. | Divide. 2M
67212
Q49. | Complete the pattern: 2M
Q50. | Draw pictograph on the basis of monthly report of transport 2M
department.
Means of transport prefer by the people.
Car-10 Bus-25 Rickshaw-20 Scooter-15 Rail-25
Q51. | Sea shells: 4M

Dhruva lives near the sea. He thought of making necklaces for his
three friends. He looked for sea-shells the whole day. He collected
112 sea shells by evening. Now he had many different colorful and
shiny shells.

He took 28 shells for one necklace.

112-28=84

Now he was left with 84 shells. Again he took 28 more shells for
the second necklace.




. How many shells are left now?

. Are the shells enough for making necklaces for all his

friends? e e




TOTAL PAGES :08

KENDRIYA VIDYALAYA AFS, BAGDOGRA
ANNUAL EXAMINATION, 2018-19

SUBJECT: ENGLISH CLASS: v

TIME:

2 HOURS MAX. MARKS: | 80

INSTRUCTIONS:

1. All questions are compulsory.

2. Write the answer in the space provided in the booklet itself.

NAME: SEC: ROLL NO:
INVIGILATOR’S SIGN: MARKS OBTAINED:
EXAMINER’S SIGN:
READING
(UNSEEN PASSAGE)
1. Read the passage and answer the following questions given below-

Mohan and Sohan were friends .Once they made a plan to go to Varanasi.
They passed through a forest. Wild animals lived in that forest.

On the way , they saw a bear. Sohan was selfish. Sohan climbed up
a tree to save his life. Mohan could not climbed up the tree. He lay down on the
ground. He held his breath. The bear smelt him and took him to be dead.

He went away. Sohan came down .He asked Mohan “What was the

bear speaking in your ears?” Mohan replied , “He adviced me to beware of
those friends who run away in time of danger. The moral of the story is ‘A

friend in need is a friend indeed.”

Ans

Write the name of two friends from the story.

1M




b) Who lived in the forest ? 1M
Ans
C) What did Sohan do to save his life ? 1M
Ans
d) What did bear do with  Mohan ? 1M
Ans
e) How was Sohan ? 1M
Ans
f) What is the moral of the story ? 1M
Ans
) Write the opposite of the given word- 1M
Ans Up
h) Write simple past tense of the word ‘Smell’ 1M
Ans
i) Circle the naming word in the sentence given below - 1M
Ans | Once they made a plan to go to Varanasi.
) Make a sentence using the word ‘Tree’ 1M
Ans

(SEEN PASSAGE)
2. Read the passage and answer the following questions given below:-

Once upon a time , an old carpenter bought a very queer piece of wood .As he
used his plane on it,he heard a little laughing voice say, “Stop! You’re tickling
me.”
The old man was puzzled by the voice .He said, “This is a strange piece of
wood . What shall I do with it? I think. I”’ll make it into a puppet.

He set to work, and as the puppet boy took shape, the old
man said, “He must have name .I will call him Pinocchio.”

As soon as he finished making eyes, the carpenter was

amazed to see them move.




a) What did the carpenter buy ? 1M
Ans
b) What did he made out of the piece of wood ? 1M
Ans
C) What did he call his puppet ? 1M
Ans
d) Why was the carpenter amazed ? 1M
Ans
e) Write the full form of — “You’re” . 1M
Ans
f) Write the opposite of the word ‘New’ from the passage. 1M
Ans
9) Write a word from the passage which means ‘Strange’. 1M
Ans
h) What is the past form of the given word- 1M
Ans | Puzzle -
i) Write one describing word from the passage. 1M
Ans
) Circle the action word in the given sentence- 1M
Ans | The old man was puzzled by the voice.
PROSE AND POETRY

Answer the following questions-
1. Who finally made the cow get up ? 1M
Ans
2. Who was Hiawatha ? 1M
Ans
3. Who came to Akbar’s court ? 1M




Ans

4, Which part of the plant should be watered ? 1M
Ans
5. What did the boy make with the trunk of the tree ? 1M
Ans
6. Why did the cow refuse to get up ? 2M
Ans
7. Why is the play called ‘The Giving Tree’ ? 2M
Ans
8. Why did the child in the poem ‘Books’ like looking at pictures ? 2M
Ans
9. What did Pinocchio say in the end ? 2M
Ans
10. What did the boy wonder about ? 2M
Ans
GRAMMAR
1. Write the simple past tense of the given word - 1M
Come-
2. Write( whenever / whoever )to complete the sentence - 1M




| am hungry | eat.

3. Write( two / to) in the following sentence- 1M
| have leave at 10 am.

4, Fill in the blanks with the correct word. 1M
A Pundit visited the court of Akbar.(learnt/learned)

5. Add ‘ a’ or ‘an’ before the given word . 1M

wrist watch

6. Which language is used in Andhra Pradesh? 1M

7. Punctuate the following sentence- 1M
on monday i will go to school

8. Add ‘ly’ to make new word and fill in the blanks- 1M
The tree gave its fruits to the boy . (happy)

9. Fill in the blank with the correct word. 1M
A branch has a number of .(leaf/leaves)

10. Write rhyming words for the word given below- 1M
Heat

11. Make a sentence with the word-Delicious. 1M

12. Write a sentence beginning with - 1M
| shall

13. Write the simple present tense of the given word- 1M
Picked -

14, Fill in the blank with describing word- 1M
Pinocchio is a puppet.

15. Write the name of two things which are made of wood- 1M

CREATIVE WRITING oM
1. Write down a paragraph about ‘Cow’.




Write five sentences about ‘Books’.

M




Draw the picture of a “Puppet” and write four sentences about it. 5M
1. SPELLING
Arrange the jumbled letters to make a meaningful word-
a) i) ERRUSQIL- 1M
i) RUFOERCOS- 1M
i) GIETHYW - 1M
iv) BOMEODSY - 1M
v) CSSUIBHI- 1M
b) | Encircle the correct spelling-
) Chicken chickan chickeen 1M
i) Fluentlay fluently fluantly 1M
i)  Tommorrow tomorrow tommorow 1M
Iv) Storyes stories storeyies 1M
v)  Secret seceret secrete 1M




HANDWRITING

Honesty cannot be only a policy. It can be a principle. There is a difference

between policy and principle. A policy changes. You change a policy when it
does not play. But a principle does not change. You do not and cannot change a
principle even if it causes loss.

Honesty is the best wealth .The reward of honesty is honesty
itself, for there is nothing better than honesty .Character is the crown of life and
honesty is the crown of character itself .No one can be good or great without
truth and honesty .So ,all great men have always led an honest life. Honesty is
the component of moral character which develops good attributes including

truthfulness, kindness , discipline etc.

oM
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